162 - 93 + 34

[ 2
> ®eh: 103

(162 — 93) + 34 = 69 + 34 = 103




47-29+18

\VARR 4
0
i

. 36

Al 2] 54, EAlS D ol FE Aedi= Al

Feh
47-294+ 18 =18+ 18 = 36




3. A AW 2 AR AR 7|28 2 As LEAL.

@ 168 + (3x 14)
O 128 +4x7
© 15%x12+2
® 96 + (4x2)

00,0066 00666 06000
®e 006 (oeeo

B

@ 168 + (3x 14) = 168 + 42 =4
© 128 +4xT7T=32%x7=224
©®15%x12+2=180+2 =90
@96+ (4x2)=96+8=12




4.

A glol A 2 AT 7P e A0 T THHAL.

@ 22-14+26 © 41-(9+ 14)

© 17+18-6

C}
=

>
> ME. 52

B

@22-14+26=8+26=234
©41-(9+14) =41-23=18
©17+18-6=35-6=29
whEhA] 34 + 18 = 52




5.  AXMINZE ARSI 27, -, 15, +, 4, = S 2 2 st =
o® 47} YR Y7k

> E.

> Hehl 16

27-15+4=16




715 + 324 - 681

358

Al 2] 54, EAlS D ol FE Aedi= Al

Feh
715 4 324 — 681 = 1039 — 681 = 358




25+ 3942

\VARR 4
0
iy

22

Al 2] Sl EAS s el FE A= Al
25+ 39 — 42 = 64 — 42 = 22




8. AXF AW AP E AL o= AU

® 58-33+29 @ 35+ 60 — 46
® 100 - (25 +50) @)23 + (95 - 66)
® 28-15+9

B

@ 58-33+29=25+29="54
@ 35460 — 46 = 95 — 46 = 49

® 100 - (25 4 50) = 100 — 75 = 25
@ 23 + (98 - 66) = 23 +32 =55
®28-15+9 =22




& oA AL AT} s AL ol AU

@® 26 +54-32 =112 @40—19+27:48
® 29+ (72 - 45) = 52 @ 61— (24+18) =55

® 72-(13+16) = 38

B

Al 4= G4, EAlS = ol A B E 2t = AL
ol mj Zo7t oW Ho 5 WA ALt

@ 26+ 54-32=80-32=148

® 29 + (72 - 45) =29 + 27 = 56

@ 61— (24+18) =61 -42 =19

®72-(13+16) = 72— 29 = 43




10. [ ] el 5ol A4 % 84 &

Mo

A

fio
K

104-(234+[ ) >28-15+63

~&B

®)5

28 — 15 + 63 = 76
104-(23+[ ) =76
23+ |=104-7s,
23+[ |=28

[ ]=28-23=5

webA [ gtoll Soiz st
55Tk AL 4olct




